
X-sect = 5.138E+00(pb)   AVG = 1.010E+00   RMS = 0.000E+00
Tot # Evts =    8182  Entries =    8182  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG = 2.000E+00   RMS = 0.000E+00
Tot # Evts =    8182  Entries =    8182  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG = 2.000E+00   RMS = 0.000E+00
Tot # Evts =    8182  Entries =    8182  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG = 3.148E+02   RMS = 1.143E+02
Tot # Evts =    8182  Entries =    4936  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG = 9.523E+01   RMS = 9.496E+01
Tot # Evts =    8182  Entries =    8117  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG = 3.082E+01   RMS = 3.884E+01
Tot # Evts =    8182  Entries =    8182  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG = 1.614E+02   RMS = 9.784E+01
Tot # Evts =    8182  Entries =    8047  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG = 1.104E+02   RMS = 7.534E+01
Tot # Evts =    8182  Entries =    8159  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG =-2.375E-03   RMS = 1.684E+00
Tot # Evts =    8182  Entries =    6105  Undersc =   984  Over



X-sect = 5.138E+00(pb)   AVG = 5.560E-02   RMS = 2.348E+00
Tot # Evts =    8182  Entries =    5469  Undersc =  1418  Over



X-sect = 5.138E+00(pb)   AVG = 1.944E-02   RMS = 1.502E+00
Tot # Evts =    8182  Entries =    8178  Undersc =     2  Over



X-sect = 5.138E+00(pb)   AVG =-1.607E-02   RMS = 1.782E+00
Tot # Evts =    8182  Entries =    8162  Undersc =    11  Over



X-sect = 5.138E+00(pb)   AVG = 1.392E+02   RMS = 5.066E+01
Tot # Evts =    8182  Entries =    5129  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG = 2.602E+02   RMS = 2.712E+01
Tot # Evts =    8182  Entries =    1357  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG = 2.520E+02   RMS = 2.906E+01
Tot # Evts =    8182  Entries =    2423  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG = 2.414E+02   RMS = 3.220E+01
Tot # Evts =    8182  Entries =    2524  Undersc =     0  Over



X-sect = 5.138E+00(pb)   AVG = 2.393E+02   RMS = 2.992E+01
Tot # Evts =    8182  Entries =    3055  Undersc =     0  Over


